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Assignment

1. Factor completely.
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3. Giventhat (sinx)? is written as sin®x and (cos x)2 is written as cos?x, factor > &’C(Q-}(B( N(\A\mﬂ'
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5. Factor.
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2

From the expressions below, the one which does not represent
a perfect square trinomial is

A. x*-14x+49
B. 144 +24x +x2
C. 4x2-12x+36
D. 9x*+30x%+25

8.  When factored completely, the polynomial k*+ 16 — 17k? is equal to

, v
A. (k2—1)(k2—16)56$“0“b_u\'”‘ k- 1+ o -%hé

B. (k*+1)(k2+16)
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9. One factor of x* - 16x2 + 15 is _\3-’\(3.
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Numerical

Repane 1’ The polynomial expression %(x —2)2+3(x-2) +9 can be written in the _

form (Ax + B)?. The value of A + B, to the nearest tenth, is .
(Record your answer in the numerical response box from left to right.) R » 5
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